	Clue Card ONE

· The troposphere is the layer closest to the Earth.

· The mesopause is the boundary between the two highest layers.

· The blue cubes represent the last layer.

[image: image1.wmf]Once you know your layers, here is some temperature information:

· The average temperature at the base of the troposphere is 18 degrees Celsius.

· The temperature falls steadily from about zero degrees at the bottom of the mesosphere to -90 degrees at the top.
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· Each cube equals 10 km of altitude.

· The red cubes represent the thinnest layer.

· The tropopause is the boundary between the troposphere and the stratosphere.

· The thermosphere is the highest layer.

Once you know your layers, here is some temperature information:

· The temperature in the stratosphere is a constant    -60 degrees for 10 km then rises steadily for the next 30 km till it reaches 0 degrees Celsius at the stratopause.

	
	
	

	Clue Card THREE[image: image3.wmf]
· The yellow cubes represent the layer above the troposphere.

· The stratopause is the boundary between the mesosphere and the stratosphere.

· The highest layer is about 40 km thick.

· There are four layers of the atmosphere:  the troposphere, the stratosphere, the mesosphere, and the thermosphere.

Once you know your layers, here is some temperature information:

· The average temperature at the top of the troposphere is -60 degrees Celsius.  The temperature drops steadily with altitude.
	
	Clue Card FOUR
· The atmosphere is about 120 km thick.

· The stratosphere is about 40 km thick.

· [image: image4.wmf]The height of the troposphere extends to a height of about 12 km.

Once you know your layers, here is some temperature information:

· The temperature remains steady at -90 degrees for the first 10 km in the thermosphere and rises steadily to 90 degrees at the top of the zone.


